

Frozen Bakery Products & Frozen Pizza



About the company

Es Komerc d.o.o. was founded in 1992. Until 2000, it operated exclusively as a wholesale company. After 2000, it began developing a retail chain. Since 2012, the company has been investing in a new manufacturing plants.

We now own 25 retail facilities, a conventional and organic pasta production plant (manufacturing type of production), a frozen pizza and homemade pies production plant, a conventional and organic jams and juices production plant and 1300 t cold storage for deep-frozen fruit.

Quality management system

Es Komerc d.o.o. determines its quality direction and manages quality-related business activities following modern trends and market requirements. We guarantee our business partners and consumers that they receive top-quality products made through the production processes supported by quality standards Organic EU, Organic RS, IFS Food, BRC, Halal.

Dolim -

Bakery and Pastry Products

Pastries (pies) made of a thin dough, filled with a variety of fillings, such as cheese, meat, potato or spinach&cheese.

MANTIJE, small one-bite pies filled with meat, are especially delicious.









PRODUCT NAME	EAN code	Pieces per box	<mark>Box</mark> per pallet	Total piece per pallet	Pallet weight (kg)	TMC (months)
VOLIM - MANTIJE WITH MINCED BEEF 850 G	8606111710924	12	48	576	570	12
VOLIM - MANTIJE WITH COTTAGE CHEESE FILLING 850 G	8606033420888	12	48	576	570	12
VOLIM - CHEESE PASTRY (PIE) 800 G	8606108926963	12	36	432	374	12
VOLIM - PASTRY FILLED WITH MEET (BUREK) 800 G	8606109316794	12	36	432	374	12
VOLIM - PASTRY WITH POTATO FILLING 800 G	8606033420925	12	36	432	374	12
VOLIM - PASTRY WITH SPINACH AND COTTAGE CHEESE FILLING 800 G	8606033421465	12	36	432	374	12

Te Amo - Frozen Pizza

The recipe for dough and pizza tomato puree was given to us by our Italian colleagues. Te Amo pizza is our product, but with a real Italian taste.





PRODUCT NAME	EAN code	Pieces per box	Box per pallet	Total piece per pallet	Pallet weight (kg)	TMC (months)
TE AMO – PIZZA BASE 200G	8606033420819	15	48	720	180	24
TE AMO – PIZZA MARGHERITA 360 G	8606033420765	6	64	384	158	12
TE AMO - PIZZA VESUVIO 380 G	8606033420772	6	64	384	165	12
TE AMO – PIZZA VEGETARIANA 400 G	8606033420789	6	64	384	165	12
TE AMO - PIZZA CAPRICCIOSA 400 G	8606033420796	6	64	384	188	12
TE AMO - PIZZA PEPPERONI 400 G	8606033420802	6	64	384	169	12



The recipe for dough and pizza tomato puree was given to us by our Italian colleagues. Pizza is our product, but with a real Italian taste.





PRODUCT NAME	EAN code	Pieces per box	Box per pallet	Total piece per pallet	Pallet weight (kg)	TMC (months)
PIZZA MARGHERITA 360 G	8606033420901	10	72	720	290	12
PIZZA CAPRICCIOSA 400 G	8606033420918	10	72	720	325	12

Mini Pizza - 120 g

The recipe for dough and pizza tomato puree was given to us by our Italian colleagues.

Mini pizza is easy to prepare and eat, making it great for quick snacks, packed lunches, or parties. It is perfect size for children and often more visually appealing and fun to eat.















PRODUCT NAME	EAN code	Pieces per box	Box per pallet	Total piece per pallet	Pallet weight (kg)	TMC (months)
MINI PIZZA MARGHERITA 120 G	8606033421786	15	144	2160	300	12
MINI PIZZA CAPRICCIOSA 120 G	8606033421779	15	144	2160	300	12

Mini Pizza - 140 g



The recipe for dough and pizza tomato puree was given to us by our Italian colleagues.

Mini pizza is easy to prepare and eat, making it great for quick snacks, packed lunches, or parties. It is perfect size for children and often more visually appealing and fun to eat.











PRODUCT NAME	EAN code	Pieces per box	Box per pallet	Total piece per pallet	Pallet weight (kg)	TMC (months)
MINI PIZZA MARGHERITA 140 G	8606033421885	15	144	2160	350	12
MINI PIZZA CAPRICCIOSA 140 G	8606033421892	15	144	2160	350	12



Contact:

ES Komerc d.o.o. Velika Zupa bb, Prijepolje, Serbia volim@eskomerc.com +381 64 856 0808 www.volim.rs







